TH2OEE 5 A 7 B ¥ =E R L RIL/MER
=0 ERITE S 28 -HESF HE|$#ERER
ERES REAR
1| B|REHM ER PR R /MR ES(10:00) atE
(FHREEZI 4-54E13:10 1,2,3414:30 64£15:20)
2| K|EDER BRETPTAESSRE(19:30REEVS—) & A
3 K A=
US| A EYDHE
5| 5 L) =|
6 &
7H
8|A|ZER =31
ol gﬂ*ﬁ%’/)ﬂ'z'ﬁﬁ'ﬁé 1330~ ) HBEHM *i5 =R
&8 =
10 EARRLO0ITESS) HEEF140BHD) | wa
&R BIFF(E 1881530 E28616:15 BA/M) !
1| A | EBBESRE LN 4-6F 1530~ ) B A0 E PR HHE £(13:30%0) L
A= P P . X%&(tid\) =
12 $ (ﬁ)'fXEK ﬁFqgﬂK éﬁsK“gOO) Fﬁmﬁﬁm,ﬁ*ﬁﬂ-«@(‘l E) /H7k
13 =
14 H H=mEDY
- EE A /N D EHEH(4.00TH REEE)
15| R|957 (BT BH(1530203 1) o
16| K =
F=F=f-1 FE=h2R
17|k |masE B [k
RBREHZE(0:00) £FI—FT4R—F— A A N
18| K RIS (T RAAL) (H)-1-2-54  13:30) VHEFH(10:30E WS ) KI |RBREH=E
19(& FILE /N PR HEER R E(10:00E YT &) B
20 £ ZOITERS > EVA—
21 B Z2OKITEBESEV+—Y
29| B| 25 TRTHRTTINREF 5418 SHESHALHATER40EVTE) | 20
23| N BHREE 1 ~0F 181~ ) HIHEFEL(530HRLTE) s
24| K| EB& R eh
MEF0:30 MLz )
25| 4 [BERIT(1BE RE-REHBHE) & 483 HHH(15:30{F RC) paes
HEI—T1F—5— ERGE ML THMEEEEE(14.008 BIRER) ™
BE/NREFF(14.00H REEE)
BERT(2AE =EA@E) i
20| | pastme %
27 £
28 H
29| B XER(HAEEE) ==
1| RRE(R) AR -YTAM5,65F)
30| X | mrimi 1030 245) PN
31|k g e 8 (1) 2m e
(6 BDFE]

1R (R)EafKkZ
128 (R) 77— iEk&
208 (R)HBEMEA

2R (R)VHLOEEZ 1, 25F
168 (£)Eh-ERRPAE
S0R(R)IBESEH - FHMBK

68 CK)ALTEHRE HBEMEE
268 (B)7—ILRZE




